N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

1%} F (%] F %] F [%]
X F X F X X
ok g ol g g
E10°F S10°F = =
E o 20 @
3 s f s g
3 10'F B
E E 10 S
103 -
3 10°F
i i 10°
W 10F
ﬁ y 1=.—- 1 A y 1 N ] .
—_— Z/(,MSSW 12 _3_X_2022-02-25-23007/src/DOQM_VOOUT_} JUUUOUUUJ. Global__mKFTOLD__}
CMSSW_12_3 X_2022-02-25-2300/src/DQM_V0001_R000000001__Global__mkFitNEW__RECO
[o |2 [o
A 4 . A h| R
095=50-15-10 -5 0 5 10 15 20 25 05 =50-15-10 5 0 5 10 15 20 25 095 =50-15-10 -5 0 5 10 15 20 25 05 =50-15-10 =5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
2 F 2 F 2 2
8 & g 8
=0° =1 = £
() Q
F 2 %’l 2
10°F- - 10°F s
E E S 10
10°k 1wk 10
10%F 10%F
10F 3
E E jl
hl
o Y o o
I : I 1 ©
o . @ 4 @
9 RO - - - - 4 1
%% 20 -10 0 10 20 30 °¥/ =20 -10 0 10 20 30 °%35

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


